AZURE REGULAR LAVABO BATARYASI - 15680101

Kumanda Kolu Gr.
13680041

Gr. Alt Taban Rozeti
13680151

Gr. Alt Bagla
13390101

13

>

%
=

W =

nti

\

((

=@

K
R
Dol

,v
R
L

Va®

T

v
XX
X

Va¥

0
%

>
KR

2020294
XX
K
‘.E— ( ( )

A
‘Q
a2l

,v

X

R
i

XXX
9%

:‘

SR

,v
>
%
&S
RRRK

v,v,v,v

XX
RRRKS
LKL
Rodetetelee

>
[
K
s
X

X2
R
%

K&L
KX

R

=
QK
(XK

<
Va

X

f,,
z
©

&

190

120

S
b
1 | Setuskur 12010490 M5x5 AlSI-304
1 | Bice 12011290 Slikon
2 | Flex 50cm 13010260 M10x1-3/8"
2 | Somun 12030380 M6x15
2 | Saplama 12030680 M6x60
10| 1 | Tespit Plakasi 12030350 M6
9 1 | Tespit Plaka Contasi 12030360 M6
8 1 | O—Ring 12020220 #40x3 NBR
7 1 | Taban Rozeti 12680031 50x50 CuZn39Pb3
6 1 | Perletor Gr. 13010191 M24x1
5 7 | Kumanda Kol Gr. 13680041 Zamak
4 1 | Kartus Rozeti 12010381 M37x1,25 | CuZn40Pb2
3 1 | Baski Somunu 12020360 M37x1,25 | Plastik
2 1 | Kartus (Flex Girisli) 12011390 835
1 1 | Govde 12680011
Sira |Adet| Parca/Grup Adi Kod No Olgu Malzeme




